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Question an-ér Specific Instructions

Please read each of the following instructions carefully before attempling
quesiions :

There are TWELVE questions divided in TWO SECTIONS and printed both, in HINDI
and in ENGLISH.

All questions are compulsory.

The number of marks carried by a question /! part is indicated against it,

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QUAJ Booklet in the space
provided. No marks will be given for answers written in a medium other than the
authorized one.

Keep the word limit indicated in the questions in mind.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must be
clearly struck off.
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Q1. (a)
{h)
Q2. (a)
(b)
Q3. (a)

EGT-G-GSF

TUEA
SECTION A

fefae fnati % wed & wfds vl &, @9 smafe gedi =1 =99 i ain
I TEv =i FATE i | (150 W)

State the three basic values, universal in nature, in the context of civil
services and bring out their importance. (150 words)

g el wfE “agmmafgm” et “smanafa” % ode faies
#ifae | (150 weg)

Distinguish between “Code of ethics” and “Code of conduct™ with suitable
examples. (150 words)

dmen B @ wfiur 2 2 fofaw wdafEl oo dfem § sl & fagm
it rdfafii w1 e fEm s =t 7 (150 w=2)

What is meant by public interest ? What are the principles and
procedures to be followed by the civil servants in public interest ?
(150 words)

“gEm w1 aAfgen sfufem Faa amie & oot & et § & 53 2
wiug T8 EvE® ¥4 H FaEed € gwern = @il s 2 0" fGEe
+ifaw | (150 w=2)

“The Right to Information Act is not all about citizens' empowerment
alone, it essentially redefines the concept of accountability.” Discuss.
(150 words)

fea-fartfee @ = el ® 7 anafas ol gwfee fefdfomed & 6 &
el I g1 TR HitAY | (150 we)
What is meant by conflict of interest ? Illustrate with examples, the

difference between the actual and potential conflicts of interest.
(150 words)
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(b)
Q4. (a)

(h)
Q5. (a)
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¥ o =afrdl & @ =19 omg A 49 i F =@ §  geie,
Figamn =i St | afE = gwen o ol R, Ao R oo s wETE
" g T

TAEH TigyE § 9 HEA ° AW T THed § 7 TR Fitan | (150 )

“In looking for people to hire, vou look for three qualities : integrity,
intelligence and energy. And if they do not have the first, the other two
will kill you.” — Warren Buffett

What do vou understand by this statement in the present-day scenario ?
Explain. {150 words)

“rem w WA H, 9% 7Y $9 A B # Fawe sfrste % gr o
fifeard & gm Fifeg 7 e ™ & 7 ww S dEw g e
waeal # FEE W % ged A4, 36 U 1 39 SOl |iga Ew
=hifare | (150 wre3)

“In doing a good thing, everything is permitted which iz not prohibited
expressly or by clear implication.” Examine the statement with

suitable examples in the context of a public servant discharging his'her
duties. (150 words)

wrategl € A % @69y § vE gfRswm a9 98 2, fF o wEi e &
0 # aft gEr e v @ fn oform anaAt w0 afem fag = R ) s
foam @ 9 @ SR ghewm g afts 399w B 7 99 I % um o
@ g Fafe | (150 =)

With regard to morality of actions, one view iz that means are of
paramount importance and the other view is that the ends justify the
means. Which view do you think is more appropriate ? Justify your
answer. (150 words)

o+ Hfifsm & e wn vw U oS e w0 v 9ty = e wm
dre @ 8, St Sen @ faf @ o wwf o ogm we § ) st
ArRfErEaa ¥ Foed & e wen 5 S adea i = mEm @
=1fEn 7 (150 %)

Suppose the Government of India iz thinking of constructing a dam in a
mountain valley bound by forests and inhabited by ethnic communities.
What rational policy should it resort to in dealing with unforeseen
contingencies 7 (150 words)
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(b}

=i wamed A A s 1 weE F9 F v woere it |
- (150 wr=z)

Explain the process of resolving ethical dilemmas in Public
Administration, (150 words)

Q6. anu Hey A Frafefem & & oo g =1 o famm & = afimm 2 0

What do each of the following gquotations mean to you in the present
context ?

{a)

(b}

(e}

EGT-G-GSF

“Tarelt oft A I =fiwn =9 T sredter w0 w1 i w0 oft faw T
T & Fr ve w0 g R T, oo 7w 8 B 3w st @ s 508
® | UH wWEd %A fawg @ & 9 Oft We gL @ 3= dn § | wmm adh R,
Ty Wit fifo & weiftm, sreond o gud 391 & sfasdeda 9 8@ &
difs 34 g1 % o9 waEe % 91 H gen waiew fefr £ snevasa g
wdl ® |7 — @ f&Ea (150 w=g)

“The true rule, in determining to embrace, or reject any thing, is not
whether it has any evil in it; but whether it has more evil than good.
There are few things wholly evil or wholly good. Almost every thing,
especially of governmental policy, is an inseparable compound of the

two; so that our best judgment of the preponderance between them is
continually demanded.” — Abraham Linecoln (150 words)

“wiy Fii swfremm v wuw % wg § 17— mEewn 0 (150 =)

“Anger and intolerance are the enemies of correct understanding.”
— Mahatma Gandhi (150 words)

“smen oft we W wE @ A R gl s ofomn frewes odefE sem
B 1" — foms (150 we)

“Falsehood takes the place of truth when it results in unblemished
common good.” — Tirukkural {150 words)
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SECTION B

Q7. THY fen T w1 v TavEn wfewd R, fm o aws 3= st sl 56 8

Ty furErt F @m § TEd By wiEn 3 3@ afns Aiesl & fon o s
FETE A & A 6 TEEE e w grfde Hia #

a7 & fom Freaferfas wfei §
(31) 6034 it 71 IEd wufyw g A |
(1) ol ol wem & wfea 1 |
(@) ofEw i arfis s ¢ 19 E 50w

(8) 3o % arg oAl & Sffae ) e § EesEe B Sl gEE HeEE
& |

v i v g ufd viw % watem § Ao & @ % e s o oA |
3§ 3% B % us nia # 9 A A we # | gg =ufw ot e | o v
famm 1 9 @ e 3uE s 4 e 2 | aRomeseey, e Y § AR |
frer wret & fomd 8 8 wifer am 9 W e 2 | 9@ g9 H dEiE H H
forn w1 gam A9 2 | s Ry wen fufeemss, fomd & fim 8, T $m & R
wew fafemm 50 =1 49r R | R W, 3@ ag Gl % s =, 39 g,
SR w1 Ed, W2 S w T 1 e g, @ gE e 92 | gl '
G ¥ ETET T S AT W e ot ol watteat gft s g ) e oft, TRl o
T i el T e i o s sfea o e § s s g s )
e W1 58 e # | sEfEn e =Ry 2 (260 )

Rakesh is a responsible district level officer, who enjoys the trust of his higher
officials, Knowing hiz honesty, the government entrusted him with the
responsibility of identifying the beneficiaries under a healthcare scheme meant
for senior citizens.

The criteria to be a beneficiary are the following :
(a) 60 years of age or above.
(b)  Belonging to a reserved community.

(¢)  Family income of less than ¥ 1 lakh per annum,.

(d)  Post-treatment prognosis is likely to be high to make a positive difference
to the quality of life of the beneficiary.
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One day, an old eouple visited Rakesh's office with their application. They have
been the residents of a village in his district since their birth. The old man is
diagnosed with a rare condition that causes obstruction in the large intestine.
As a consequence, he has severe abdominal pain frequently that prevents him
from doing any physical labour. The couple have no children to support them.
The expert surgeon whom they contacted is willing to do the surgery without
charging any fee. However, the couple will have to bear the cost of incidental
charges, such as medicines, hospitalization, ete., to the tune of 2 1 lakh. The
couple fulfills all the criteria except criterion ‘b’. However, any financial aid
would certainly make a significant difference in their quality of life,

How should Rakesh respond to the situation ? (250 words) 20

T WOV T .

Q8. mﬁﬁmﬁﬁﬁﬁﬂaﬁwﬂﬁ%?ﬁmqgawmﬁﬂﬁﬁm
AW arefl wEt drmadt, 38 gze Foin efEead, 0% s afienas § e 8
TEd B W ? | WA v g wes fmiv g 6 o s aen @ B f
WE AW R g% # | Pl A m oaA W e @ § R s gfy @
mﬁmﬁ-%aﬁv%mmm&ﬁﬁl{ﬁmmﬁm%wm@ REEil
qfy & wiferi =% o eifaqfd 1 & A wwerd Sl & s ftfe wcdt w3 e
e Fna-wn & s ot e @ T 2 ) Ul s 2 f ofeie 5 g -
i €1 39 &9 i omaum % a1 i o Simdt § sl I s |

mﬁa,ﬁﬁﬁaﬁ%aﬁqﬂmﬁmﬁﬁmﬂaﬂ:ﬁmmmﬁmm
foredt g Wl % 20 v & vl aem & o & fwe | mw @ uh 3 a9 G
Whﬁﬁﬁﬁﬁ%m,mﬁmm%wwm
YEUs EfeR F R S R e o E, we w0 § geEm w0 | o 3 amet gz
ot fovam e w1 wara fear o s w6 gwam a6 8 Wit fn daifs =9 @
GiEl 51 @ R | AR A 3w e e 2 AR e o v g e 2,
af 3mh g d off s wRrEE wm | o e % WAy § awa-H Fa
qft 1 sftmEw wen 2m, el geew w wnh e aw gdm, g fere o
Fereenfa i1 | Faw 78 & 7, W "o aga "R S o weaEn w2, el @
&= =1 B strarw waT B S |

w9 il =1 qma @9 @ A = w1 2 e v 5 e e s
Tigm Hifw aq mw fifm F o dw dew B ¥ a9 wwE W
Zifiea & | (250 w=g)
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Q9.

As a senior officer in the Ministry, you have access to important policy
decisions and upcoming big announcements such as road construction projects
before they are notified in the public domain. The Ministry is about to
announce a mega road project for which the drawings are already in place.
Sufficient care was taken by the planners to make use of the government land
with minimum land acquisition from private parties. Compensation rate for
private parties was also finalized as per government rules. Care was also taken
to minimize deforestation. Once the project is announced, it is expected that
there will be a huge spurt in real estate prices in and around that area.

Meanwhile, the Minister concerned insists that you realign the road in such a
way that it comes closer to his 20 acres farm house. He also suggests that he
would facilitate purchase of a big plot of land in your wife's name at the
prevailing rate which is very nominal, in and around the proposed mega road
praject. He also tries to convinece you by saying that there is no harm in it as he
is buying the land legally. He even promises to supplement your savings in
case vou do not have sufficient funds to buy the land. However, by the act of
realignment, a lot of agricultural land has to be acquired, thereby causing
considerable financial burden on the government, and also displacement of the
farmers. As if this iz not enough, it will involve cutting down of a large number
of trees, denuding the area of its green cover.

Faced with this situation, what will you do ? Critically examine various
conflicts of interest and explain what are your responsibilities as a public
servant. (250 words)

o e Ty & e wEmed wr) @ | sftandt A 3w oe & e uE e A
ﬁnﬁﬁﬁﬁﬁmwéﬁﬁaﬁﬂmmﬁ%ﬁﬂwt | HaY =
a5 A B Wl 8, o e A # i Fe o, e fen atewial s oag
HEET w2

it 7 T8 w0 saErd H wEE & e @ @ T @ e 3E e
=ael @ e W T @ 1 e, fawenfat, ofem & geeH, sl geeH —
avft =1 Shae difta wrE w1 B | awen g o we enft ft i i g2 R

sk Fliet & o =wm 2 6 et & o a8 wom = % % g W R,
3 anfife, Areifies amn fafs w1 @ feg § | s9ata fen gl =1 Fh ®
T wwrE e 2 | i wgel # s @R O TR way Iwe R e
X F | ol A S % wens  guR @ & w9 @ owwR % g R T A
A HeAl % TR e HETET 98 i TS @ |

wae it FEfm =3 & fw sy Se-a 39 39 A9 ? (250 5
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Q10.

It is a State where prohibition is in force. You are recently appointed as the
Superintendent of Police of a district notorious for illicit distillation of liquor.
The illicit liquor leads to many deaths, reported and unreported, and causes a
major problem for the district authorities.

The approach till now had been to view it as a law and order problem and
tackle it accordingly. Raids, arrests, police eases, criminal trials — all these had
only limited impact. The problem remains as serious as ever.

Your inspections show that the parts of the district where the distillation
flourishes are economically, industrially and educationally backward.
Agriculture is badly affected by poor irrigation facilities. Frequent clashes
among communities gave boost to illicit distillation. No major initiatives had
taken place in the past either from the government’s side or from social
organizations to improve the lot of the people.

Which new approach will you adopt to bring the problem under
control ? (250 words)

U #g i 9fEn 92 o w sfiwifie weEl & 3emer § g9 2 ) 38 viEn
us i HE T F aEa # | iy W oguwE % s sde et 3
ah T F1 sEfen w1 o | e v oew wew A, o iy € el w
BL, wifrs gfmm &1 wdn %) wfien w0 o ot ve & wifiy = wanfe
FE ol it waH w4 |

T & 10 9 gF vnfem # fm o oft anft o wE gEE w9 d =@ ol A
Frenfie wfeamel @ fay gu g @ &9 yft, 9@ ok el W govE T @
o | 3EH HFE qun ggett § v ey dEdt anend 9 o @ off | wfongess,
THE B AT HA hH A F A AEeag eed @9 @ | anfiand o iden
H wAR @i 3w forn fawd dg g i o o srewen € ween @ Foed %
fern gfera =1 wed 50 o1 92 | FERAM % 9y U0 S 3 et w9y w0
=1 seE 2 fan |
ﬁmﬂ%ﬁaﬁﬁ%ﬁﬂﬂﬁwqﬁaﬁaﬂﬁmmﬁmﬁﬁmﬁiﬂmgaﬁg
HEwE ShEE & HT o SR @ T | g 39 I oW W g0 e ver 3.
v EF Ieaifen el W Rk d

30 HE & HWIRH % IwmEiaes H@Y T v afrs wfuedt B9 F AW, wm m
Faeitie = Fdes fem wr w6 7 (250 w=2)
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Q11.

A big corporate house is engaged in manufacturing industrial chemicals on a
large scale. It proposes to set up an additional unit. Many States rejected its
proposal due to detrimental effect on the environment. But one State
government acceded to the request and permitted the unit close to a city,
brushing aside all opposition.

The unit was set up 10 years ago and was in full swing till recently. The
pollution cavused by the industrial effluents was affecting the land, water and
crops in the area. 1t was also causing serious health problems to human beings
and animals. This gave rise to a series of agitations demanding the closure of
the plant. In a recent agitation thousands of people took part, creating a law
and order problem necessitating stern police aetion. Following the public
outery, the State government ordered the closure of the factory.

The closure of the factory resulted in the unemployment of not only those
workers who were engaged in the factory but also those who were working in
the ancillary units. It also very badly affected those industries which depended
on the chemicals manufactured by it.

As a senior officer entrusted with the responsibility of handling this issue, how
are you going to address it 7 (250 words)

21, ‘v T % UF Uhatea Bees | 3R v unld am cafim = e B
ek Areqs © |ErE & @t 9l & e dedl wEwsas f off + Ao, 3 ow
T -ferstgra avegarE wnfis e s ¥ | S &, Tsa & 39 g o =6l 4§ i
TR | e ey 39 89 % o uw atem |t B

A9 39 &3 F T A=Y THE 5 WgE § | =i ¥ w5 s % e
o AR w5 @ sfmfmad a0 5 # | I 8 3o agg i § s
Frm g g d w0 2 W g w6 w, S g glee S oawm e
aifey | SiFeT @edm & fom 89w 2 | 9 oA = afd B s = W 9 W
g
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Tk Tme g1 famed & ¢

(i) = AiRHm TEd g, AfEieE w qTEE e gifiea Sl o
I Sl T FA A Fae qFAreh wHH F

(i) WS W O I o mdt memett W o W, W @ v & @ e
GEiC Al

w1 A % U BW % AW, W s we fowm @ fawen AAndn s

i ? (250 ¥8)

Dr, X is a leading medical practitioner in a city. He has set up a charitable
trust through which he plans to establish a super-speciality hospital in the city
to cater to the medical needs of all section=s of the society. Incidentally, that
part of the State had been neglected over the years. The proposed hospital
would be a boon for the region.

You are heading the tax investigation agency of that region. During an
inspection of the doctor's clinie, your officers have found out some major
irregularities. A few of them are substantial which had resulted in
considerable withholding of tax that should be paid by him now. The doctor is
cooperative. He undertakes to pay the tax immediately.

However, there are certain other deficiencies in his tax compliance which are
purely technical in nature. If these technical defaults are pursued by the
agency, considerable time and energy of the doctor will be diverted to issues
which are not so serious, urgent or even helpful to the tax collection process.

Further, in all probability, it will hamper the prospects of the hospital coming
up.

There are two options before you :

(1) Taking a broader view, ensure substantial tax compliance and ignore

defaults that are merely technical in nature.

(ii)  Pursue the matter strictly and proceed on all fronts, whether substantial
or merely technical.

As the head of the tax agenecy, which course of action will you opt for and why ?
(250 words) 20
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Q12. TsaE FieA, WF FA fsww qw dendv & g smmew wwmws, 3 wwen
% Tt sl & wfea & an e sl SR w0 gen T # o
e | wek fafy fasvn sfi sifef wwen % sEm, 9% o= @ el
FfufEm 1917 #1 3g=4 g0 2, foms @l 7=y 19 T W e aees
oE A R | $E araeg R e 3 s A wn, m w e T v o s
uw Afaw b @1 | 35 W S aEaihE w9 5 (Fae =) 9E s
1 3= FgmE & T =t 17 gu 2 3w am o o e e @ ofl s
farg 1 B = @7, =men gow w9 2

HiEd % g9, Er g Fea F 3gma # duifiea 6 gae fme fe o
mmﬂﬁﬁ:ﬁﬁmﬁquﬁaﬁmﬁﬁm#mw
uE it # | sve =fe Tied & wena @ | %ee 5o 3 9w o fan R oiEe 3
FFA 121 2 30 ufE gan % oy gz R R, fred B 38 waretE sEom
A1 =R |

T A FEE TR § % we e S w9 A frafun @9 own o AR H
gfee | 3fem a1 2 00 i 7 2 59 v A wew e geet oA B s a
g | (250 we2)

Edward Snowden, a computer expert and former CIA systems administrator,
released confidential Government documents to the press about the existence
of Government surveillance programmes. According to many legal experts and
the US Government, his actions violated the Espionage Act of 1917, which
identified the leak of State secrets a= an act of treason. Yet, despite the fact
that he broke the law, Snowden argued that he had a moral obligation to act.
He gave a justification for his “whistle blowing” by stating that he had a duty
“to inform the public as to that which is done in their name and that which is
done against them.”

According to Snowden, the Government's violation of privacy had to be exposed
regardless of legality since more substantive issues of social action and public
morality were involved here. Many agreed with Snowden. Few argued that he
broke the law and compromised national security, for which he should be hald
accountable,

Do you agree that Snowden's actions were ethically justified even if legally
prohibited ? Why or why not ? Make an argument by weighing the competing
values in this case. (250 words)
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